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(b) What are intermediate targets? Critically examine

the rate of interest and money aggregates as

intermediate targets.

(c) Derive and explain the following: Deposit multiplier,

currency multiplier and complete money multiplier.
(9'9)
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(a) Derive and explain the concepts of deposit
multiplier and currency multiplier.

(b) Explain some of the factors that could lead to
financial crisis. Explain the role of asymmetric
information in detail in this context. (6,12)
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(e) List three monetary tools that RBI can
achieve its monetary targets.

)
2160 7

use to
(6,6,6)

8

ftqRrfrF + i ft-d *a d srt fffrv:

(ir) RBr + qR nh ffi +'r4 T{r fr tu}C * vs *
+q ird{ e€ dfrsl

(e) it-*t 6tRrir- + sR + qra-srt afra q.lqr ensrq
* vrar *, ffi a rim*r q..c * qr& tr cfurR qrqR
qFolfir + serf + E{ 6!rc fr qrql 66q,

(r) ffim-o qfi Rr *? s+RlM d qrcqr dftc frr<+
T6 fr+ qft *r go'rrwr *r

(e) u-<rw qRo-s+ * ertsr yftq-o qm scr d *r, ++
d sh Cq, uo-<r * sfu C6.*rfr tcr rfr d co-ar
*, e1s1 q16q,

(t) €-+riF*-sv-otot d qS -{r( fud-ol sc+rr Bnftrr{
irc+ dF6 rq] d crq qt+ + frs tn-r Es-f,r *l

Attempt and TWO questions of the following :

(a) Briefly explain the expectation hypothesis. How
could future interest rates be forecast using the
expectation hypothesis?
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(b) Explain how the Expectation Market Hypothesis

and Segmented-Market Hypothesis are different

versions of the Preferred- Habitat Hypothesis.

Discuss with examPle. (6,12)
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Attempt any THREE of the following :

(a) Explain the diflerence between M., of second and

third working group report of RBI.

(b) As information about firms become easier to
acquire, the role of banks reduces. Explain this

statement in the context of a security market

hypothesis.

(c) What is the yield curve? Explain the conditions in

which it can it downward sloping.

(d) According to the expectation hypothesis the yield

curve can slope upward, downward, and be a

straight line. Explain.

(a) Given required reserve ratio is l0ol0, desired excess

reserve ratio is 5% and desired currency to deposit

ratio is 25oh, how does an open market purchase

of Rs. 500,000 change deposits, currency holdings

and money stock. How does your answer change

if the required reserve ratio rises to 20%?

(b) Differentiate between the base rate and Marginal

Cost of Funds based lending rate MCLR. How

are these rates useful in monetary transmission?

(6,12)
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(a) Explain the legal framework that allows the

Reserve Bank of India to function as a central

bank.
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(b) Money supply in India can be affectod by changes
in monetary base and/or money multiplier. Explain.

(6,t2\
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(a) What is reserve money? List the sources of
changes in reserve money.

(b) Explain the impact of financial sector reforms siace
l99l for the following sub sectors:

(i) Insurance sector

(ii) Non-bank financial companies (6,12)
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(a) Differentiate between the prime lending rate
system and benchmark prime lending rate systems.

(b) It is not merely the number of instruments that is
important but the number of instruments exerting
independent effects on the target variables.,
Explain this statement in the context of monetary
policy instruments and targets. (6,12)
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6 (a) Explain the problem of lemons in stock and bond
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